alphal3_4eX1X

0.8

0.6

0.4

0.2

UEILA40_LZA4E Y

0.5

alphal3_4eX1X:cyclenum {run == 5486}

4240

4240.5

4241

4241.5

4242
cyclenum

deltad46_12X4eY:cyclenum {run == 5486}

4240

4240.5

4241

42415

4242
cyclenum

alpha4b_4ey4ay

5488

5487.5

5487

>486.5

5486

>485.5

5485

5484.5

5484

alpha46_4eY4aY:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

run:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

deltal3_lzx4ex

o

|
e
o

-15

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

segment:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 5486}

P -
e e e eeeeamaenaaaaan .-

4240 4240.5 4241 42415 4242
cyclenum

usl_4eY:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

usl_12X:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum

usl_sex

5488

5487.5

5487

>486.5

5486

5485.5

5485

5484.5

5484

usl_4eX:cyclenum {run == 5486}

[

4240 4240.5 4241 42415 4242
cyclenum

run:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 5486}

P -
e e e eeeeamaenaaaaan .-

4240 4240.5 4241 42415 4242
cyclenum

usr_4eY:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

usr_12X:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum

usr_aex

5488

5487.5

5487

>486.5

5486

5485.5

5485

5484.5

5484

usr_4eX:cyclenum {run == 5486}

[

4240 4240.5 4241 42415 4242
cyclenum

run:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum



6493.5

16493

6492.5

16492

5491.5

—-2273

2273.5

-2274

2274.5

-2275

usl_coill:cyclenum {run == 5486}

A PRI EPRTETETIE EYEPEPET AT A
4240 4240.5 4241 42415 4242
cyclenum
usl_caoil6:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242

cyclenum

3152

3151.5

3151

3150.5

3150

usl_coil/

usl_coil3:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

usl_coil7:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum

4871

1870.5

4870

1869.5

4869

5488

5487.5

5487

>486.5

5486

5485.5

5485

5484.5

5484

usl_coil4:cyclenum {run == 5486}

PRI N BN B
4240 4240.5 4241 42415 4242
cyclenum

run:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum




1130.6

usr_coill:cyclenum {run == 5486}

1130.8F
-21131F
1131.2F

1131.4 F

1131.6
1131.8

21132

1132.2fF
1132.4 F

1132.6F

1132.8

4240 4240.5 4241 4241.5 4242

cyclenum

usr_coil6:cyclenum {run == 5486}

-2784

2784.5

-2785

2785.5

-2786

4240 4240.5 4241 4241.5 4242
cyclenum

3546.5

—3547

3547.5

—-3548

3548.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum

usr_coil7:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242

cyclenum

5350.4

5350.2 F
5350 F
5349.8 F

5349.6 F

5349.4
5349.2

5349

5348.8 |
5348.6
5348.4 F

5348.2 F

5488

5487.5

5487

>486.5

5486

5485.5

5485

5484.5

5484

usr_coil4:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

run:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum




-142

-142.5

-143

-143.5

-144

-267

-267.5

-268

-268.5

-269

1X_coill:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242

cyclenum

4eX_coill:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum

1X_coil3

15

1X_coil3:cyclenum {run == 5486}

0.5

-37.5

-38

-38.5

-39

-39.5

4240 4240.5 4241 42415 4242
cyclenum

4eX_coil3:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

1X_coll/

4eXx_coll/

[

05

[

05

1X_coil7:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

4eX_coil7:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum




319.4

319.2F
319F
318.8F

318.6 F

318.4
318.2

318

317.8F
317.6 F
317.4F

317.2F

294

293.5

293

2925

292

4aY_coild:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

4eY_coild:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum

-93.5

-94.5

-111.5

-112

-112.5

-113

-1135

4aY_coil6:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

4eY_coil6:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

4eY_coil7:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum




-221]

-221.5

—222

-222.5

1en_Lunu

-223

N
=
u

9.5

12X_coill:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

12X_coil6:cyclenum {run == 5486}

4240 4240.5 4241 4241.5 4242
cyclenum

1-73.5

-74.5

-75.5

[

12X_coi/

12X_coil3:cyclenum {run == 5486}

4240 42405 4241 42415 4242
cyclenum
12X_coil7:cyclenum {run == 5486}

4240 4240.5 4241 42415 4242
cyclenum

12X_coll4

5488

5487.5

5487

>486.5

5486

5485.5

5485

5484.5

5484

12X_coil4:cyclenum {run == 5486}

4240

4240.5

4241

4241.5

4242
cyclenum

run:cyclenum {run == 5486}

4240

4240.5

4241

4241.5

4242
cyclenum
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